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Measuring Beam Size with Sextupoles

- Initial results from machine studies 19-22 February-
Sextupole 10aw: AK,L = X, AK,L + dx K,L Updated 27 March
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The tune is decreasing, so
we know the quad kick is
decreasing, i.e. the beam is
moving closer to the center
of the sextupole.
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The beam is moving and sk dx = 0.5 Beot(m Q) Ap,
“accelerating” toward the - B X = 471 + 0.05 mm
center of the sextupole. 45 e [
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Sextupole 10aw: AK,L = X, AK,L + dx K,L
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Negative ¢ E values X = -4.71+-0.05 mm

calculated at lower dx/dK L= -0.140 +- 0.002 ¢-3

AKZL values where

Plot o, calculations for each

the sensitivity to
uncertainties is larger

of the four combinations of
the two uncertainties.

Updated 31 March
with sqrt(p_z )
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